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Warr U ﬁf

Oct. 30, 2018

1) Find the missing number (Show your work)

[ _ 14'= 14
14 38416 l"l"-’ 9%
143= a4y
Y = 38491s
2) Find the missing number o ‘l": Y D;L
6 __ :“:‘q 8%+ | 62.8\
§ ¢=15625 iy

3) Place a <,> or = in the blank between (Show your work)

a) 572 43 b) 3% > 52

18 12¢ ¢S 5% g 29
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Quiz Time
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Homework
- Solutions

1. Identify the base of each power.
a) 6 ( b2 Lo sd T 9

2. Use repeated multiplication to show why 3% is not the same as 5°.

3*=3x3x3x3x3 5=5x5x5
=243 =125
Complete this table.
Power | Base | Exponent | Repeated Multiplication Standard Form
4 4 u UxUyy xy 286
10°
o 3 T ITN2Y [1.Y.Y.Y
[ o B 2 Nxiy 19¢
|$ | c I=x1=x1=x1=x1 L
o 9 ' ;_ 531 441
¢ o 1 SXSXSXSXSXSXS N h e
4. Write each product as a power, then evaluate (standard form). L
a) 6x6 6=, b) 3x3x3x3x3x3=Y =V

c) lDXIDxlelD:w\l_"o%od) 8x8x8§%) = 513

5. Find the missing exponent. (Show work)
a) T8=16807 b)28=32 gH =128 @3% =81 ¢d*=31

7x7=4 c)2x2=4
a) x7=49 b)2x2=4 y2r2es
= XL X£4 =
TX7x 7 =343 2x2%2 =8 e
= X2 X2 X2 =
TXTXTXT =2401 2 %2 %2 X2 = 16
7XTXTXTX7 = 16807 2x2x2x2x2=32

2X2x2x2x2=32
2X2X2x2x2x2=64

2X2X2X2X2X 2x2 = 12!
d)3x3=9
3x3x3=27
3x3x3 = 81

)9x9=81

6. Find the missing base.

a) Y =64 b) =49 ¢ _| %=1 d) G =729

7. Ewaluate each of the following. What do vou notice?
a) 107 b) 10° ¢ 10° d) 108
100 1000 100 000 1 000 000

The exponent on the 10 is the number of zeros that appear in
standard form

8. DPlace a <, >or=in thebox. (Show vour calculations)

2) 276 ) FEE o PRIY d) TEE
128 015 04 64 729 243 343 7776

October 30, 2018
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What do we notice?

3" =3 10° =1
10" = 2°= |
12" =12 81°= |
17'=11 21°= 1|
27"= 2" 13°= |
99" = 99 5= |

R
X

=X
5":‘3\3 =3
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Exponents

Whenever you have an exponent of 2, it is said to be squared. 32 might be
read as 3 squared.

Whenever you have an exponent of 3, it is said to be cubed. f might be
read as S cubed.

If the base is raised to the exponent 1, then the answer will always be the
base itself.

examples: 15'=15 24' =24 6 893' = 6 893

If the base is raised to the exponent 0, then the answer will always be 1.
examples: 26" =1 147" =1 945" =1

(156)- |
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Squares and Perfect Squares

Ex. 1)
What is the area of each below?
Are they squares? Why or why not? 6%“”(,
A < Lew :
- SCW\?‘SW - L*w 9cm
’%\QL)"‘ " =2Y4Qem- T h-‘-' Gemxqen_
=dlem*
]
S em¥
L
=V
- Areas Lxw _ LXw
L 4/ rem - 2c.m&2m7 RQ( At\e L
- L‘ = 8gw\x q( m
LB - Cm
w = 3dem®
Exg)%(an you form squares with the following areas?
Lxw Sco“ ot S (W YW ? Q<
(a) 18 cm® (b) 25 cm? (c) T00 cm? (d) 60 cm?
| x1I§ = _Ix25 ";’2‘3 IX o
x5 P | 2% 350
LR i w— S gx$ $x 20
d%6 [  suxSie ©x20 xS
T v~ (lex o) %o
Side ) $ J(. Sam<

Al| Recdarghes SO & Square

How do you know if a given area will make a square?

You will form a square if 2 of the factors are the same, for example an area of
25 cm? forms a square because 25 =5 x 5
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66&\10«'(

-'-—
\ 42
]
2
A(ea of dyrare = bxh
- XX
= 2
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Squares and Perfect Squares

What is the area of each below?
Are they squares? Why or why not?

A=LxW

=8x5

= 40cm?

8 cm

Not a square,

sides are not equal

2cm

2cm

A=LxW
=2cm X 2cm

=4 cm?

Square all sides

equal

8cm

EX 2) Can you form squares with the following areas?

(a) 18 cm?

a) No, there is no number you can

multiply by itself to get 18

(b) 25 cm?

(c) 100 cm?

October 30, 2018

A=LxW:-
=9x9
m o =81om?
Square, all

sides are

equal

A= LxW

=8cm x4cm

=32 cm?
Not a square,

sides are

not equal

(d) 60 cm?

b) Yes, forms a square, 5 x 5=25
C) Yes because 10 x 10 =100

d) No, can not form a square, there is no number you
multiply by itself to get 60

How do you know if a given area will make a square?
You will form a square if 2 of the factors are the same, for example an area of

25 c¢m? forms a square because 25 =5x 5
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Notes

"To Square a number" - Multiplying a number by itself

Example: "The square of 5"is 5x5=25
Thus

52 =25
5% =5x5=25

\

25 is a square number

or Perfect Square



gr 8 u1 sqgre day 3 perfect square.notebook October 30, 2018

use graph paper

Example 4:
Show that 36 is a square number. Use a diagram, symbols and words.
<y
bx\e
o
6 Area = 3b
Solution:

Draw a square with area 36 square units
Side length = _‘Q units
Then,36=6 xf% =4 2

Words: Thirty-six-is— 2% squared

10
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NOTES:

How can you find all of the perfect squares of the numbers between 1 and 2507
Multiply the same numbers to get a perfect square.

Side length | - *W gg;f:fet(Area)
| 1x1 =] 1
2 2x2 =| 4
3 3x3 =| 9
Y 4x4 =| 16
5 5x5 =| 25
o | 6x6 =] 36 kil
Q| 7x7 =] 49 v
¢ | 8x8 =| 64
9 9x9 =| 81
0| 10x10 =| 100
U| 11x11 =] 121
R| 12x12 =| 144
I3 13x13=] 169
14x14 =| 196
15x15 =| 225

E

October 30, 2018

Perfect Squares

hn91s,23,

ab,'-lq’ b"l,

21, 100,190)
qu\ 161 ) 1
Ry

11
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Ex. 5) A square has area of 144 cn?. Find the perimeter of the

square. _ . .
(Always include a diagram...doesn't have to be on graph paper if it doesn't

ask for graph paper....so sketch)

2 IY4= 2 » 12
' Side Side
114 | Perimeter = Side + Side + 82datsids

= |2Zem#l2ZantRomt 1len,

- YHfum

12
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Page 8
> ,
#9(Use graph paper),(if you don't have graph paper write out factors)
#10(c, d JUST sketch),
#11,
#12a
%em

-' ) 10b) 2
C:,) S\L\< 3 4 A= 1% em

13
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How can you find all of the perfect squares of the numbers between 1 and 250?

@ 345@«4& wnds

Ux G
) vl

4 (-
I —
bvbo

14
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Extra Practice

Lesson 2.1: What Is a Power?

1. Identify the base of each power.
a) 6° b) 2 c) (-5)* d) 7°

2. Use repeated multiplication to show why 3° is not the same as 5°. (Include standard form)

3. Complete this table.

Power | Base | Exponent | Repeated Multiplication Standard Form
4*
10°

14 2

Ix1x1x1x1
9 531 441

5x5x5x5x5x5x5

4. Write each product as a power, then evaluate (standard form).
a) 6x6 b) 3x3x3x3%x3x%x3
c) 10x10x10x10 d) 8x8x8

5. Find the missing exponent. (Show work) 0 0
a) 70=16807 b)20 =32 ¢)z” =128 d)3~ =81 )9~ =81

6. Find the missing base.
a) =64 b)_ 2=49 ¢)_  °=1 d_ 3=729

7. Evaluate each of the following. What do you notice?
a) 10° b) 10° c) 10° d) 10°

8. Place a<, >or =in the box. (Show your calculations)

a) 2'0J6* b)4112° ¢)9[d3° d) 7°[16°

The right to reproduce or modify this page is restricted to purchasing schools.
This page may have been modified from its original. Copyright © 2009 Pearson Education Canada
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Name

Extra Practice

Date

a) 6°

Base = 6

Lesson 2.1: What Is a Power?

1. Identify the base of each power.

¢) (-5)*

b) 2’

Base=7

Base = -5

d) 7°

Base =7

3% = 3x3x3x3x3

2. Use repeated multiplication to show why 3° is not the same as 5°. (Include standard form)

5% = 5x5x5
= 125
=243
3. Complete this table.
Power | Base | Exponent | Repeated Multiplication Standard Form
2* 4 4 AxAxAx4 256 9-=513 441
10° 10 3 10x10x10 1000 g{{
142 14 2 14x14 196 /| g=g1
1° 1 5 1x1x1x1x1 1
9° 9 6 9X9x9X9X9X9 531441 /|-
6
5 5 7 5X5X5X5X5X5X5 78125 9°=513441
4. Write each product as a power, then evaluate (standard form).
a) 6x6 6°=36 b) 3x3x3x3x3x3 3°=729
c) 10x10x10x10 10*=10000 d) 8x8x8 8% =512
5. Find the missing exponent. (Show_york) 0 0
a) 7U=16807 b)2H =32 ¢)z” =128 d)3~ =81 ¢)9 =81
5a) 7= 16 807 5h) 2= 32 5¢) 2= 128 5d)3-=g1 | 5¢) 9I=81
X7 2%2 2x2 3x3 9x9
49 X7 4 x2 4 x2 9 x3 8
343 x 7 8 x2 8 x2 27 X 3 =9
2401 x7 6 x2 6 x2 81
16807 32 32 x2
=7’ =2° 64 x2 =3’
128
L :27
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6. Find the missing base.
a) 4 %=64 Db) 7 %=49 ¢) 1 °=1 d) 9°*=729

7. Evaluate each of the following. What do you notice?
a) 10° b) 10° c) 10° d) 10°

=100 =1000 =10 000 =1 000 000
When the base 10 is raised to any exponent the exponent indicates how many zeros.
8. Place a<, >or =in the box. (Show your calculations)

a) 2’ < 6° b)4® = 2° )9 > 3 d 7°< 6

128 216 64 64 729 243 343 7776

4 The right to reproduce or modify this page is restricted to purchasing schools.
This page may have been modified from its original. Copyright © 2008 Pearson Education Canada Inc.
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